
0
0

rn

lD:Il

P:
01

-0

%
rn

0

E

:

.

CD B
-0

CD 0-

& R

S -§

5--E
On

R
C

Cl

0

0

0

5
CD

0%
04

9
No

-
C.

8
3

-
CD

0
-
cn

@

8
=J

Cl

g

CD

2
a

E

g
-

-
0

/3
pp
a>

%2

CD ··

3

Cl

U%

O8

(D

3

CD

n

n

3
rD

3

A-

0

TE
n

2@

Z

PE

NS
0

=888%.4
0-+52-3=.

52Kes

g2m2%@
* T E 1 - CD

**893%
R E- 2. di - 2
0 =. 0. 0 2 1

. 0 0--0 51*8523 2
* -0 2 0 g *
F 3 3 2% 2
% 8 # 25 -3
0 2 0 5 0 2
0 - CD =1 9 0
 5 5-KP 0 S

CD Q. 8 23. CD

CD  0 =-5-

aR@25
5%6-ag
53-gao
O 23

g

M
r.

-0 5
O#k
% 2 13
Sr x
8 G qI

&92
tgr- -1

<.

E
@T

3
Ln

Z

g

9'

=3

-

g

2
C.

-
0

2
0

C

CO

Ca.
0

3%

U
C-1 NE

2- 3 2
5

0 ='=rs

533@
22 2 5

-· i k @,
22 i i

7% @ 5. 2
0-4-.r%-h

52. 0 Y' =h

E g P @
·2 a. 11 2
g PEE-
SIg. 5 2

81- -%
9% S
RS i
(DE (D

0)

3
i 6 5
7 -O --

5
%3 a

83 R
-

CD m 0

A 00 1\0

ikEF
1 3 ca A-

CDS J .

G % 0 3.
K903

00 9

22 + 3
1 0 2 W
g30
3 6 03
30>5

3252

3-2 33
338%
M 2 - Cl

5- 7 0

g
m =1 0

m r
3 4
2 21
8 2

4 5
R

g f
1 4

9 3

=r *@
-·c¤ R

m W O

R-g
C

-

@
-F

0 31 -1
g. 'D =

§55
S:i m O
OJ3 *

1_ 2 E.
5 00 2

g. 6 <n
5 0 9

0> CDa*- =
-1 9%
2 CD a

i#it
='3 C
r 2 23
5 7 C

CD g Er
52» a 
0)CD O
013
Cl =2 -0

§ RS
G R 5
5 CDS
3 -@ CD

8 %.
=J

9 E
*C

710-

CD

N -5

Er

092
(D Cl)

=:
S

g'
=r

&.
C

CD

:

0

0

r-
(D

<

(D

K

0
0

(D

-1

-0

0

r

m

Fi
<

-1

0
Z

-rl
3>

m
70

-0

0

Z
G)

m

CD

:5

e
=l

\1
\ -F=i
\ Ul11 1

1/\-
 _l -T-
@* E

I :<

= 11 =2
b: :

.i

N

0

(D

X

\1

t.)

+
Crl

0

\
1

C)

Crl

3
(D

0-

0-

0

-0

K

X

K

-0

0
-1

1

T

El

:
S<

Ig
* -1

.0

:
. 0

im

:S
"0
8Z
a.

0

j

T

1

3
-U

91

3>

Er
m

m

0
-1

0
Z

T

1

\

l*

(»-1

1

WINDOW HEIGHT (72" MAX.)

T T

1

4 1:
»---T

g-

@ P

(D

lgE S

:5« k
tz* r U

I

g
CD

\
\

m

K+

K

 E
-1 Z

T

1

T

1

T

1 1.

lili
XO

tp

E

(0 5

n=

-7

'i

-0

-e

I.

£7 4;'17

j

NOON 0- · K

Ij C g E
33 00 2: 9 1

3 3 j gE ti

i

\I @
1

-, 4

T

0

/5

00

==
X

KN
m X

00

0
Z



0
0

rn

lD:Il

P:
01

-0

%
rn

0

E

:

.

CD B
-0

CD 0-

& R

S -§

5--E
On

R
C

Cl

0

0

0

5
CD

0%
04

9
No

-
C.

8
3

-
CD

0
-
cn

@

8
=J

Cl

g

CD

2
a

E

g
-

-
0

/3
pp
a>

%2

CD ··

3

Cl

U%

O8

(D

3

CD

n

n

3
rD

3

A-

0

TE
n

2@

=888%.4
0-+52-3=.

52Kes

g2m2%@
* T E 1 - CD

**893%
R E- 2. di - 2
0 =. 0. 0 2 1

. 0 0--0 51*8523 2
* -0 2 0 g *
F 3 3 2% 2
% 8 # 25 -3
0 2 0 5 0 2
0 - CD =1 9 0
 5 5-KP 0 S

CD Q. 8 23. CD

CD  0 =-5-

aR@25
5%6-ag
53-gao
O 23

Z

PE

NS
0

g

M
r.

-0 5
O#k
% 2 13
Sr x
8 G qI

&92
tgr- -1

<.

E
@T

3
Ln

Z

g

9'

=3

-

g

CO

Ca.
0

3%

U
C-1 NE

2- 3 2
5

0 ='=rs

533@
22 2 5

- ML 

3 8 1 

52. 0 Y' O
2- cr G) 85-

2.gpg

CD

0) Cl 0

21 -%
9 CD

02 K
: 8 .

i 6 2.
CD -0 3

a 3

Re I

0

A 00 1\0

ikEF
1 3 ca A-

CDS J .

G % 0 3.
K903

00 9

22 + 3
1 0 2 W
g30
3 6 03
30>5

3252

3-2 33
338%
M 2 - Cl

5- 7 0

g
m =1 0

m r
3 4
2 21
8 2

4 5
R

g f
1 4

9 3

2
C.

-
0

2
0

C

=r *@
-·c¤ R

m W O

R-g
C

-

@
-F

0 5 -1
g. 'D =

S & 5
S:i E O
OJ3 *

1_ 2 E.
5 00 2

g. 6 <n
5 0 9

0> CDa*- =
-1 9%
2 CD a

i#it
='3 C
r 2 23
5 7 C

CD g Er
52» a 
0)CD O
013
Cl =2 -0

§ RS
G R 5
5 CDS
3 -@ CD

8 %.
=J

9 E
*C

710-

CD

N -5

Er

092
(D Cl)

=:
S

g'
=r

&.
C

CD

:

0

\

1-

N

0
3

(D

=i

-1

-0

0

r

m

FI
<

-1

0
Z

-rl

m

Z

m

30

K

0

0

zzi
I

5

.3. Ul I

-1 Z

(D

r
(D

<

(D

-0

3>
0

Z

0

N

0

C)

m

(jo

X

\1

U

SE

:8
K*

OS
I

e)

+
cn

0

1
CD

cn

-rl
-T

3
(D

0

K

0

K

X

9 1

-0

<
m

0
3>
r

3
-0

-ri
X1

K
m

WINDOW HEIGHT (72" MAX.)

1 f

* T T T *

m

0

0
Z

r , 7

4 r

g-

0 00 G

-rl 0 1 3
11 0 N

< 0 \ --1 3

21: Z /
r-gC)
MO o

z4 r o 333
3

g
(0

E

&g

FE#
ALP

%p
C

m

0

0
Z

A N

p

CO

m P

rn X

-82.

m X

p

, LIA

I\ ' 1 -

E: E-

WK :b

M E
IZ

-U-1 K

>X
0
rn

rr,
K-

 E
-1 Z

-15
I#

91

20
C

'rJ

CO

:D»

0

1



0
0

rn

lD:Il

P:
01

-0

%
rn

0

E

:

.

CD B
-0

CD 0-

& R

S -§

5--E
On

R
C

Cl

0

0

0

5
CD

0%
04

9
No

-
C.

8
3

-
CD

0
-
cn

@

8
=J

Cl

g

CD

2
a

E

g
-

-
0

/3
pp
a>

%2

CD ··

3

Cl

U%

OO

(D

3

CD

n

n

3
rD

3

A-

0

TE
n

2@

=888%.4
0-+52-3=.

52Kes

g2m2%@
* T E 1 - CD

**893%
R E- 2. di - 2
0 =. 0. 0 2 1

. 0 0--0 51*8523 2
* -0 2 0 g *
F 3 3 2% 2
% 8 # 25 -3
0 2 0 5 0 2
0 - CD =1 9 0
 5 5-KP 0 S

CD Q. 8 23. CD

CD  0 =-5-

aR@25
5%6-ag
53-gao
O 23

Z

PE

NS
0

g

M
r.

-0 5
O#k
% 2 13
Sr x
8 G qI

&92
tgr- -1

<.

E
@T

3
Ln

Z

-0

g
r+

9,

=J

-

=

0)

g

Rl

%2
=3

(D

E oo

23
2 3
g
C

m

J

3
3

G

$8

g
C.
C/)

-
0

2
U)

2
0
-
C

E

N -'

32
59- 8

51 5

Si

2%
C

Tl

Rg
CD

3
C
C/)

to

3

J

%
-6

Ec>

3
3

%

3!
(D

Et

@g

52.0

5 6

SE
RS
CD R

iS

a€

*3
Or*

9 64
CD Q)

g

g
(CD

CD

g

=J

-
0

-3

@
r+
CD

0,

CD

0,
C.

r+

J

0

3.
J

3
CY
CUD

@

A W N

GE
CD

acn

-g
92

0,

2- 3

-' 0
C¤

5 E
2. R
0,

0)

%3
01} CD

/2

0

0

g8
Cl 52.
r. 9

0 0

21 5
2S

-
0

T CD

0' 2

0

93

%@

9 3

0 +

CD

=.

2

CF>> OJ5-1

Dics &2:
'- 2. Rl. 4 2. 0--3
N.22%03§-

0£)
- m. g

-
a)

8
33

0Sm
9'28

02

%25
CD m CD

0- 8 2
RgE
'.

Cn

a
-CJ

g
(n

0

01)

B
I.

g

R

g
C¤

a

01)

R - 2.
5 CIJ 2.
CD C 0.

-lip

2 00 E

%-0 a
-: 9%
2 1 =
5- 1 3
@2%

%5
-+CD 2

€23

Ifi
BCD 0
w 3 3

E. & 2

0)

8. q

0

CD n

-m

4# 5

%$e

02

-

@
-
CD

:

0

3

a-

N

0

(D

K

0

0

(D

r
(D

<

(D

-1

-0

0

1-

m

r

m

<

-1

0
Z

-1
I

.7

m

Z

m

70

-0

0

Z

(D

04

m

0

S=

8
K

V0

\

E

p. 4. \ /
a. 8\ 1
3 4

r,!

:1
ME -FE-
:2 :.
M .

0

CN

CD

X

\1

1<)

+
Cn

0

1

07

-rl

3
(D

0

-0

K

X

K
-0

0
-1

9 1

E
0
Z

0

r

3
-0

-n

EZ
m

U)
m

0
Z

WINDOW HEIGHT (72" MAX.)

1 1 *

* T T T 4

4

N

r'1 +0
IO
X,
C

f

r 4 r
---2- **

ill=
-4 \ r-;i-1 8 1= -*(

<= 6) n L

:< i <i]Ii;i-j
El 24 r 330° c ,

30 33 tEBE =
A m

35

CE
(0 0

mS

11

A

/\

E:

*X
r,1

CO

-rl P
X1

m X

-82*.

: X

1

3

. M

rn

- 0

t-' PO

2 M


